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Instructions:

e Do not turn to the first page until you are told to do so.

e Write down your name, your contestant number and your school's name on
the answer sheet.

e Write down all answers on the answer sheet. Only Arabic NUMERICAL
answers are needed.

e Answer all 25 problems. The total is 120 points. For problems involving
more than one answer, full credit will be given only if ALL answers are
correct, no partial credit will be given. There is no penalty for a wrong
answer.

e Diagrams shown may not be drawn to scale.

e No calculator or calculating device is allowed.

e Answer the problems with pencil, blue or black ball pen.

e All papers shall be collected at the end of this test.
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Section A (4 marks each)
A Y (B 4 77)

1. Compute : 2017 x0.25-217+4="7"
& 2017 x0.25-217+4="1?

2. In the figure below, an equilateral triangle has been wedged in between two circles. What is the ratio of
the diameter of the small circle to the diameter of the large circle?

WmEFrR, —IE=MBAEMEREZIE. NEPERS KRB ERR 2 D7

3. Find the next term in the following numbers pattern:
I UNAES E 21k

4. As shown below, the squares are cut along dashed line into four. Which of the squares can be
re-arranged into two smaller squares?

AR AN IE TR LB NIy Ja AT B AN BN T ?
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5. Each side of a cube is divided into 3x3 small squares. Paint these squares with either black, red or
blue color; squares of shared side must be painted different color. There will be at most how many
squares with blue color?

—AEGMIEL R, AR VER, DEA R 4. W0, BASNETRIE R
ik b, EIRHGRKIIE R ERAR RS, 5 R85 O 52 T PR LAY NETTE?
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6. Moody has 150 equal size of ball packed in a number of small boxes, Samy found that if the balls
required is 150 or less, they can be make up by few of these boxes, without having to open and break up
the balls in these boxes. How many number of boxes will Moody uses at least?

AR 150 M FE RN ER P B AT B =R, AR E /N BRI EUE 2 150 DELLT,
UL EHEE G T RETE, AR & TR 7 /R Rl s 7200 & 12

7. As shown in the figure, stacked 5 pieces of paper along the edge of a table, then pinned the papers at
point A. All the paper were opened with the same size of angle. What will be the value of angle for 'X',
which is the angle between the first paper and 3" paper ?

W, WA I 5 SRR T4 T BRI )R, B4R 1A TR ClnEH i A 50
FEIRITTHE R RN A RERT R 58 — 5K A0 226 =5k A0/ A M B Can &Iy “x)

x°
Rt

5

A

8. Malaysian satay (meat) is favourable for all. Abdullah decided to use 3 kinds of meat from chicken, beef
and mutton skewered together in a stick to form three new types of satay. The selling price are $6.00,
$8.00, $13.00 as shown below. A purchase was made consisted different numbers of the three satay sticks
combination as mentioned. After counting, it was concluded that there were 58 pcs of chicken, 51 pieces

of beef and 40 pcs of mutton.
How many sticks of satay with the stick combination of price $13.00?

chicken chicken chicken
mutton mutton beef
beef mutton
beef
chicken

$6.00 $8.00 $13.00

RVGWHIBEA H (Satay) RE 4, REANERN, FIERERANSKA. 2FRAL FER =R RS
I =Fr U R B, B0 B oNEEE $6.00, $8.00, $13.00. =PRI AR %30 T —tL )5 (BRECAHMHED

A 58 B AL 51 BRI 40 BRI
AH A o
EH ER 41
4 *A
4
B

T X = FPhe A P oK T 220 H1$13.00 RS 2
$6.00 $8.00 $13.00
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9. A mystic has been summoned to a haunted house to discover a spirit dwelling there. She can sense that
it must be present behind one of four doors, but each door is inscribed with a riddle written by the
spirit :

Door A : I’'m behind B or C.
Door B : I'm behind A or D.
Door C : I’m in here.
Door D : I'm not in here.
The mystic knows that just one of these inscriptions tells the truth. Where is the spirit ?

MR WAL LR S MR AR U T AN R, (8
SLAGAT L2V IR R R

"TA: BAET] BRI C HIRT

'1B: RAENT AT D IR

17C: MK,

17D: RATELE,
RS, SR U R TS, T4, R R IR ?

10. John and Anne participated in the same tour to visit Malaysia. The number of the tour group members is
between 20 to 30 persons, and each person’s date of birth are not the same. John said: "In the tour group,
people elder than me is 2 times the people younger than me". Anne said: " In this tour, people elder than
me is 3 times people younger than me.” How many people joined this tour?

2y AN 2 Y Z IR — ANl [ 2 S R P RO, BN T 20 2 30 Az 0a], HAA AR A H Y
BAMIAE. 2ol “hRBrEIT, BRI B BN 2 657, 2t “aRisRt,
FRMNHGE LN NE 3457 o 1, XA BT 2 N2

Section B ( 5 marks each )
B 4 (B8 5 7))

11. In the occurrences of 2018 number 4, fill in with the general order of "+, -, X, =" as below, what will be
the calculation results?

A+4—-4x4+-4+4-4x4+4+ ...

1E 2018 NMUF 4 28], WNE—MMKTEHEAN“ +. = x. + "I, HtHEEREET2/0?
4+4-4x4+-4+4-4x4+-4+ ...

12. During a math training camp, Anwar washed five pairs of different colored socks, and he found
two socks missing. The missing socks might or might not from the same pair. What is the ratio of the
best situation (just a pair) and the worst case scenario (not a pair)?

S INEEEER)IE RS, 2P T BRACARBER T, KIAW TR, AIReA N 7R F IR 22—
X, WAJREA R —X, wIFEN (FEHRE—X0 S&IRMIER (RE—X0 A2
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13. In a party, the students shared equally a bottle of apple juice. Some students disliked the taste and did not drink
the apple juice then left the party. The remaining students opened another bottle of apple juice and shared
equally, meanwhile some student left the party after they had their juice. The remaining students opened another
bottle to share. After finishing this last round of apple juice, someone said: "I have drunk exactly a bottle of apple
juice. If this statement is in line with the actual situation, then, how many students were in the party at the
beginning?

TP, B ER PRSI, AN NALE, SAREIT T TR
THRNER M, SCPEER TR, SR EAEE T H ORI E, AEEE
T RTNER—I, FEIAERTION, SRE% 7V IRRe— MR RAUria . “&
U T SRR 7 AR AT A SRR, A, —IH R A 2 N7

14. Shan Shan has 180 chocolate candies, Henry has 120 milk candies. After Henry uses more than
10 milk candies to exchange some chocolate candies with Shan Shan, both of them have equal number
of candies. How many chocolate candies are equivalent to a milk candy?

PHA 180 KiX5 e JobE, FHIRAA 120 Kb ghpl. F A LA U5 S 7 —sery v R, X
I, ARATRRERBCE AU 7o W, R URESE T 2R 50 JhE 2

15. The sum of 5 different prime numbers is 200. Each of the 5 prime numbers is less than 100. Four of
the 5 prime numbers have the same units digit. What is the median of the 5 prime numbers?

5 NS R E 2 12 200, RS TECER/NT 100, oA TUAN BRE AL BCER AR R, SR AN BT
AL CRIEED .

16. Three persons A, B and C work on a project. The original plan is like this: Person A works alone on
the 1st day, Person B on the 2nd day and Person C on the 3rd day and Person A works alone on the
4th day in turns, and so on. They finish the task exactly at the end of Person B’s day. If Person B
works alone on the 1st day, Person C on the 2nd day, Person A on the 3rd day and Person B on the

4th day..., they spend % days more than the original plan in finishing the task. If Person C works
alone on the 1st day, Person A on the 2nd day, Person B on the 3rd day and Person C on the 4th day
in turns..., they spend 17 days more than the original plan. It is known that Person A spends 2016

days finishing the task alone. How many days will it take the 3 persons to finish the task if they
work together?

A. B. C=NSER TR, JRTHRIFZER —R A B, 55K B B, 25 =K C #h
fi, EEPUR AR, .. R Rem i — R, IR BBCR e TRE, JF HEHR A& B;
AL R B M, 5 TR C b, SR A, BEUUR B B, L AR Y %2

mﬁ,%ﬁﬁmzﬁ7iﬁﬁiﬁ;ﬁﬁ —R C B, 28 Kk AR, 25 =K B FHRAY,
FEIUR C s, ... %W?%ﬁﬁ,%ﬁﬁﬂé—%ﬁﬁiﬁ LA A FRH 5 Al IX I A2 75
2016 K, #4 A. By CEANEGHIXT LREFEL/DKR?

(9] |
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17. An ant would like to climb from point A to point B. Two cartons of the cube are joined together as
shown below. Find the number of shortest paths from point A to point B. It can go only along the
edges.

PAANIE TS PR AR ) — I N AR AE kS, — HIBUE A A RUIRE B rikt. WEARGILK, B AT B
wo HZ DA RAERE?

T Y.

ST AB

18. When 113744 and 109417 are divided by the 3-digit positive whole number N, the remainders are 119
and 292 respectively. Find N.

# 113744 5 109417 3 A B CAR — A=A HARBUEUN, PSR %0 119 #1292, R N A% /b2

19. Tommy always walks down the moving escalator in the railway station. The escalator moves at
a constant slow speed. Once he got from top to bottom in 16 seconds taking 28 steps. Another
time he got from top to bottom in 24 seconds with 21 steps. How many steps high is the
escalator?

DKRAEH RS B A B B T ATE, FHBUBAREEEE Ml EET#T. F
— WA FBIRIEE T 28 N EE, H T 16 8. AR, MM EBITFET 21 DS,
T 24 %>, ORI FHREE T LM EEH £ /042

20. On 15 December 2005, American mathematicians Professor Curtis Cooper and Professor Steven
Boone discovered the 43" Mersenne Prime Number, which is 230402457 _ 1,
What are the last two digits of this prime number?

2005 4F 12 F 15 H, ZEE¥ 5 Curtis Cooper Z4% 11 Steven Boone #(#%, KINL T 5 43 MR
RH 230902957 1 B4, XA ARG AN R 20 ?
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Section C ( 6 marks each )
C 4 (R 6 77)

21. There are four 4-digit cards, some numbers on the four cards are not able to be identified, these cards are
401018, 23004, [JUJ45,. [J0J20. There is only a card with a perfect square number ( perfect square

number: 25, 49, 81). What is this number?

HIsK A B HIR R, KRR EERTFYWHREEARL T, EM10 A& 4008, 23014,
0045, 00020, HpRBF—NEEe P HEOET S, Hlin: 25, 49, 81), . XNE&E
Z /7

22. Disneyland ticket is $200 for adults and $100 for children. On Children's Day, children enjoy free
admission. The number of adults increased by 60%, the number of children increased by 90%, and the

total number of visitors increased by 2016 pax compared with the previous day. Nonetheless the income
remained the same. How many people had visited the Disneyland on Children's Day?

e SR Y 1SR R N $200, JLES100, JLEEFIARR, LAY, SR SH— KM, KARN T
60%, JLEIEINT 90%, I T 2016 N, (EITZRASHT—RAMHAE, A JLEXRIH 2D AAFE?

23. A 5-digit number minus the sum of its 5 digits is still a 5-digit number, 2016x .What’s the possible values of the
digit x ?

— AT E 2016k, IRE TR LR, KRR AT, B4 x EUERZ D ?

24. ABC is an isosceles right triangle, ZADC =90 ° , AD =2, CD = 1. Find the area of shaded part .
ABC NZEH M=, «ADC=90°, AD=2, CD=1RMEIH/HIHMA.

Q: S(Shaded)=7?

I

1
3

1 1 + 1 1 1
(1+2—) X (1+3— ) (1+;) X (1+T ) X (1+4— )

Y |



